
SIGNEX LBK01 LACING BAR KIT 
 

The Signex LBK01 Lacing Bar Kit provides a means of anchoring the rear 
connection loom and supporting it independently from the rear connectors or 
solder joints. It can be used with any of the new CP series connector panels. 
 
CONTENTS 
 
1 Lacing bar 
2 Mounting bracket 
4 M2 x 3 screw 
4 M3 x 6 screw 
4 M3 Full nut 
4 M3 Shakeproof washer 
 
ASSEMBLY 
 
The lacing bar is fixed to the mounting brackets as shown using the four M3 
screws, nuts and shakeproof washers. The bar can be fitted either way round in 
any of the five locations so that the optimum position can be achieved easily. If 
required, an additional lacing bar (LBX01) can be fitted if a split loom is used. The 
mounting brackets are held to the front panel via the four M2 screws which locate 
through four clearance holes in the front panel. 
 
Note: The four M2 screws are to provide a means of attaching the LBK01 to the 
connector panel you are using which makes it more manageable during 
installation. However, it is supported in use by being clamped between the panel 
and the cabinet by the four main panel-fixing screws. 
 
 
 

 


